Варианты заданий для тестирования
Вариант 1.

1. Реши уравнение: 5х – 7х =  – 35 + 37
Варианты ответа 1) нет верного; 2) – 36; 3) – 1; 4)  1.

2. Реши уравнение: – 8х – 17 = 3х – 105  
Варианты ответа: 1) 11; 2) – 8; 3) другой ответ; 4)  8.

      3. Реши уравнение:  (2 – х) + 3(х – 3) = – 13   
Варианты ответа: 1) – 6; 2) другой ответ; 3) 3; 4)  – 3 
       4. Реши уравнение:  – 5(2 – 2х) = 2(х – 3) + 4  
       Варианты ответа: 1) 1; 2) 3; 3) нет верного ответа; 4)  – 1.

          5. Реши уравнение: 1,26х + 3,58 = 1,74х + 6,46
     Варианты ответа: 1) другой ответ; 2) – 0,96; 3) – 6; 4)  6.
Вариант 2.

1. Реши уравнение: – 7х – 9х  = – 40 + 8
Варианты ответа: 1) нет верного; 2) – 3; 3) – 2; 4)  2.

                                              2. Реши уравнение: 6х + 6 = 4х – 2  
  Варианты ответа: 1) 4; 2) – 4; 3) другой ответ; 4)   – 2.

                                              3. Реши уравнение: (4 – у) + 2у =  13   
      Варианты ответа: 1) – 11; 2) другой ответ; 3) 17; 4)  – 11 

    4. Реши уравнение: 4х – 2(х + 7) = 2(3 – х)   
        Варианты ответа: 1) 1; 2) 5; 3) нет верного ответа; 4)  – 5.

             5. Реши уравнение: 0,37х  – 8,92 = 0,38х  – 3,59
                                   Варианты ответа: 1) – 533; 2) 533; 3) – 53,3; 4)  5,33.
Вариант 3.

1. Реши уравнение: 7х – 10х  = – 3 + 12
          Варианты ответа: 1) нет верного ответа; 2) – 5; 3) – 3; 4)  3.

                                              2. Реши уравнение: – 24 + 3х  = 9х +18  
 Варианты ответа: 1) 7; 2) – 7; 3) другой ответ; 4)   – 1.

                                              3. Реши уравнение: 6(х – 1) –  (х + 1) = 3   
                                   Варианты ответа: 1) – 2; 2) другой ответ; 3) 0,8; 4)  2 

          4. Реши уравнение: 5(2 – 3х) – 8 = 28 – (х – 2)   
          Варианты ответа: 1) – 2; 2) – 3; 3) нет верного ответа; 4)  2.

             5. Реши уравнение: 1,11  – 3,48х = 6,52х  – 0,89
                                   Варианты ответа: 1) – 0,2; 2) 0,2; 3) 5; 4)  другой ответ.
